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3 DBEWIZ L5 NH ThUSNORE (5 s s ThUSORS B DBEWIZ L5 NA ThUSNORE (5 s s ThARDES
BUFRROER [100kn/mox 122 BE 1 TRETARO R |100kN/m2% 82 5K 1
HADKES tEE |hokEs tE%E |hokEE rEZ |[hokzx 1RZ HADKES tEE |hokEs tE%E |hokEE rEZ |[hokzx 1RERZ
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(kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m)
1 ~ 2 12358 | 100 | 10000  1.00 - - 13.01 2.30 ~
2 ~ 3 12388 100 | 10000  1.00 - - 13.08 2.32 ~
3 ~ 4 12452 100 | 10000  1.00 - - 13.31 2.36 ~
4 ~ 5 126.15 100 | 10000 = 1.00 - - 14.31 253 ~
6 ~ 7 14068 | 100 | 100.00  1.00 - - 15.22 2.70 ~
7 ~ 8 14068 100 | 10000 = 1.00 - - 15.22 2.70 ~
9 ~ 10 | 13958 | 100 | 10000  1.00 - - 15.31 2.71 ~
10 ~ 11 135.91 100 | 10000  1.00 - - 15.31 2.71 ~
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